7\
AY4
n
1]
=
un
L

\74\15?“‘ ) 6.1 ” 7312.2 9 %4
. 3 ®\°@f’; =123 @W

10.2 10

© 2024 Hansa Armaturen GmbH - www.hansa.com - 16.04.2024

58099113 HANSAPRISMA - Regenbrause-Duscharmatur

EAN: 4015474261402

static.hansa.com/58099113

Ersatzteile

SP58099113

Name Art.-Nr.
1 Brausearm ohne Kopfbrause Chrom 59914045
12 Kopfbrause, 250x250 mm 59913875
15 Diisenplatte, 250x250 mm, (-2019) 59913876
17 Schraube 59913754
1M 0-Ringsatz 59913808
112 Brauserohr Chrom  [ESSEENIE) 59913945
2 Brausestangenhalter Chrom 59913947
21 Befestigungssatz 59913946
22 Schraube, M5x8, SW2.5 59904755
3 Schieber Chrom 59913755
42 Sieb 59906859
45 Dichtungsring, d 21x12x2 59912304
5.7 Rickflussverhinderer 59905714
6 Thermostat 59913950
6.1 Anschlussmutter, G3/4, AF30 59902230
6.2 Anschlussnippel 59911075
6.3 Haltering, 23.9x15.2x2 59902689
6.4 Schmutzfilter, G3/4 59911076
7 Exzenter-Anschluss, G3/4xG1/2, DN15 59910254
72 Schalldampfer 59904792
14 Rosette Chrom 59913432
75 Abdeckhiilse Chrom 59912651
8 Absperrgriff Chrom 59913952
8.1 Abdeckung 59913850
82 Schraube, M4x8 59913851
83 Justierring 59913940
9 Oberteil 59913936
9.1 Befestigungsschraube, SW30 59913941
9.2 Spindel Chrom 59913689
9.4 0-Ring, d 32x2 59912803
95 Innenteil 59913942
10 Temperatureinstellgriff Chrom 59913938
101 Temperaturanschlag 59913937
10.2 Arretierschraube, 38° 59913919
n Thermostatkartusche, 3.3 59913871
1n1 Schraube, M6x9.5 59901609
12 Coupling for overhead shower pipe, M16x1, SW10 59913944
121 0-Ring, d 15x2.5 59910423
123 0-Ring, 9x2 59905095
2.4 Gewindenippel, G1/2xM18x1 59911384
NI Durchflusshegrenzer 59913753


https://static.hansa.com/58099113

